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COUPLE DEMI-EQUATION : Ox + n e — Red E® (V)
Ag” / Ag AgT+1e * Ag 0.80
Al / Al AP+ 3 g — Al -1 .66
Au’ / AL Aut+ 1 e — Al 1.68
Au? / Au’ Autt 2 e — Au’® 1.29
Au® / A Aut+ 3 e — Au 1.42
Ba* / Ba Ba®*+ 2 e — Ba -2.00
Be™" / Be Be™+2a' — Be -1.70
Bra / Br Brz+ 2 e — Br 1.08
Bros / Brz Bros 6 HaO'+ 6 a — Brz+ 9 HzO 1.52
CaH40 ! CaHgO CoHyO + 2 Ha(:]' + 2 @ (ethanal) —3 CoHgO + 2 HzO  (ethanol) 012
CaH4O2 CaH4O CaH4Os + 2 HyO " + 2 & (sthanoique) —s CaH4O + 2 H2O  (ethanal) 0.09
CaH4O2 CaHgO CaHy Qe + 2 H3D++ 2 & (ethanoique) —5 CaHgO + 32 H2O  (ethanol) 0.07
CeHaO 2 ! CgHegO2 CegHaOz + 2 H3O + 2 & (hydroquinone) —s CgHgO2 + 2 H2O {quinone) 0.13
CaHeOs ! CeHaOg CegHeOg + 2 HaO ™+ 2 & — CeHgOg + 2 H20 (vitamine C) 0.13
Ca / Ca Ca +2e — Ca -3.02
cd™ / Cd Cd+ 2 e — Cd -0.40
Cla / cr Clat 2 & N 2 Cr 1.36
clo” / cr ClO + 2HaD + 2 & —> Clr+ 3 HD 1.70
ClOy / cr ClOs + 6 HaD + 6 & — ClI+ 9 HaO 1.45
co / Co Co™'r 2@ — Co -0.28
COa / HCOOH COz+ 2a + 2 HiO'* — HCOOH + 2 HaO -0.20
COa / HaC oy 2C0: +2HO " +28 —» HaCaly + 2 HaD -0.49
cr’ Cr Cr+2ae —s Cr -0.55
cr* cr Cr*+1e — crt -0.41
crt / Cr Crt+3a — Cr 0.74
Cra07 / cr- CrO; + 14 HaO  + 6 @ — Crt+ 21 HaO 1.33
Cs” / Cs Cs"+ 1 & — Cs 292
cu” / Cu Cu™+ 1 e » Cu 0.52
cu” / cu” Cu”+2e » cu” 0.16
Cu®” / Cu cu 1 e » Cu 0.34
Fa / F Fa+26& — 2F 2.85
Fe™ / Fe Fe'' +2 & — Fe -0.41
Fe™ / Fe™ Fe™*+ 1 & — Fe** 077
Fe™ / Fe Feo'+ 3 e — Fe -0.03
HaOr* / Ha 2 HsO + 2 & — Hs + 2 H2O 0,00
Hz0 / Hz, OH 2HO* 2@ — Ha + 2 OH -0.83
Ha02 / Hz0O HxOz+ 2 HaO v 2 & — 4 Ha0O 1.77
Iz / I Iz +2a - I 0.54
[[ery ! Iz 1O+ 6 Ha O™+ 6 & —5 Iz+ 9 HzO 1.19
K K K '+ 1e * K -2.02
Li* / Li Lit+ 1 e » Li -3.03
Mg / Mg Mg™ + 2 & — Mg -2.37
M= * / N Mn™t e+ 2 e — (%3] -1.02
MO / Mn~* MROa2+ 4 HaO' + 2 & — Mn™" + 6 HaO 1.20
MRy / Mn~* MRy + 8 HyO' + 5 & — M= + 12 HaO .51
Ma® / Ma MNa ™+ 1 e — Ma -2.71
NOs / MO NOs + 4 HaO + 3 & — NO + 6 HaO 0.96
Oz / Ha0 Oz+ 4 H:O + 4 @ — 6 Ha0 1.23
a / H2(5 O+ 2 HO + 2 &2 — Has + 2 HaD 0.68
Pb*" / Phb Po™ + 2 a — Pk 012
s s S +2a — s -0.51
S04 S0s S04+ A HsD + 2 & —5 S0 + 6 HaO 0.17
Sa0s / S04 S20p + 2 & > 2 S0, 2.00
5.0 / S20.7 S40e + 2@ — 2 5.0.7 0.00
snTt / sn Sn 2 e — sn -0.14
s / Sr Sri+2e — Sr -2.89
zn¥ / Zn Znt+ 2 e > Zn -0.77




